Group-A SET-VII 3k (Marks) : 20

sfag™@ (HISTORY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

1.  OEE W &t YEsTd FEl g8 2 1
(%) = (@) w4 (M) zeeht (%) gretvs
Where was the first communist system started ?

(a) Japan (b) Russia (¢) Ttaly (d) England

2. EE H gAwem gl U e #1 T #9 g8 7 |

(F) 1860 (@) 1885 () 1854 (=) 1890

When was the first cotton mill established in Mumbai ?
(a) 1860 (b) 1885 (c) 1854 (d) 1890

i v & feaw T A O A

Fill in the blank with appropriate word :

CR - - T4 § & gl 1
Kheda Satyagrah was started m...........................

4. TIT-BIRT RCT F HEMTHwrrrenrecrrrrerreensesennns S 1
The founder of Hoa-Hoa movement was............................

11 agl o1 3N AfieRaw 60 VIl ¥ § ¢

Answer the following questions in maximum 60 words :

5. WEEA wHvE R Efa feoof fere 3
Write a short note on Simon Commission.

6.  vehww 7 fFA 72 wwens # §= fon 2 3
Which type of new problems are created by urbanisation ?

7. SHSC % 9RA W GHE H a0 3

Describe the impact of globalisation on India.
1 wvl @1 s rfereRam 100 el W
Answer the following question in maximum 100 words.
8. O den T Sfe # faaet w1 e FH) 7
Clarify the differences between rural and urban life.
SAYAl (or
ARG T FUE & T A Rt | g ?

Under which situation, the Indian National Congress was established ?
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oW b=

ST (ANSWER)

gfagr@ (HISTORY)

(@) &4

() 1854

1918

TEe T

1919 % 9Ra ifaf@m § =g yaeE o o fF 10 9 % ) g3t gur & fow uw s &
A fFa S 1927 o H TR WA WEHA i A W UF A 1 TS A TE g8 A 9h
Teef o ooy w off aRdg 98 9 O | 39 9| 1 U9 o T 9Ra % wenes & g9y o faoi
IS w71 IR 3 WEEd, 1928 H UEHA FHIYH & dEE Uged W kel wel fTEe fauy
e

TEHIOT F FHE T8 THENS! i T A1 el H AfHwl F a@dt Wem 9 A" w g9 Hi 39 R
FREM HifeTsh! gRI SUeTe HULT T qFe J9HT, a1 SR THT F AAE G S 4 e gef
qrenfE S e ved o eTeadl sed @ Seil i U] 961 Hora®y ST F -T2 ygtad #
S gam @ & Afaska § g o gam

JHEAFH H IRG W 9N AUF J9E TSN 97 § 92 T W farelt ¢S e gam wE sguwia
FHUCTEl T TG H ST G| Y &, fa, T e, A, GE AR G9R £ %1 i ga
Terd: S @ Sl USHR SUeTs geNl fafay y#Rr % qorekaEa Susea aMiEl w1 9NR 5 Sues
¢ e ©d WEem & & H 9eadl STE| AN % Siad W A HIE gER ST

TreioT e FE Stad # foeand fre & -
JTHOT ST -
(i) TiEl ® EED ®wH e
(i) Tiial ! TEEEAE EE F AR F EA F0 T GYEEE S e
(iii) TIie =1 YRl SAERo @es g 2l
(iv) Tiat o foren, e wd uftaes gfaast 1 sucer #9 e 21
(v) vl H emfRd F1 yWE AR 2
ST (or

AR T ST=Ie 1 G 1991 §6t & 3ifqn 29 o 9RAE T S S T § 9 S 2
FHIUH I TG F Gl H HE WS eEg T W wE W E© o, S9-3fedd @iEE, o geed
TS, afE TEIfE g T wiE |t sfae IR T w1 "@hed @l onl 1883 To H 2w Hied
A 7 FHARA H AEA FHE ' AH F TH SfEd GG HISA 1 THAA Al THE IevF o1 qff
TarE) VIRl 1 T2 T U STaehm T fafee sifesrd Tosflo gm 3 +ff srgqee wegarfal 1 wh
e T H #1 v T 5= fafew wada afafa &1 O auels ra em ofma: 28 TR, 1885 # ORdE
TSI FHG FI TG HY A9 TS THHRT T F ITAR] TLHE =0 w72 T T g2l
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Group-B SET-VII 3k (Marks ) : 20

WM (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

9.  Fren FFE YR H GEEH € 2 1
(F) STaTHg (@) et (M) S4 (91) e
Coal is which type of resource ?
(a) Non-renewable (b) Renewable (¢) Biotic (d) Abiotic
10. Hoeg 1 gy st fawr # - 1
(%) sieqA-fER g9 98 & d2d 99 | (@) ge&d |
(1) ufyem 9@ wew H (%) qarm T H
Mangrove forest cover a large are in -
(a) Coastal region of Andman Nicobar Island (b) Sundarban
(c)  Western Coastal region (d) North-eastern states

1. WE wreEl A fred T @5 gfg W

Fill in the blanks with appropriate words :

I 5 . T aenfed s@ 2 1
[@re ity B o o [T based industry.
(i) = Yo & forw BeR faf &1 Mo, F foFan em |

........................ developed the hachure method for relief demonstration.
12. 19 w7 &1 S AT 60 R 7
Answer the following question in maximum 60 words :
AR FY F1 F Sewar & el 9 FRol #1 See w1 3
Mention any four reasons for the low productivity of agriculture in India.
13. = 9w #1 S etfersan 60 wesi H F
Answer the following question in maximum 60 words.
T WE A H Agseyiia # el W § 2 3
Why river valley projects are called multipurpose products ?
14. = 937 1 S sfuswan 60 =i H 7
Answer the following question in maximum 60 words.
Ffy W i g | o9 T € 2 3
Whot do you mean by agrobased industries ?
15. =1 w9 %1 S afesan 120 vl W T
Answer the following question in maximum 120 words.

IR § A FE I F AU FHl 7
Describe the cotton textile industry in India.
AYE (or)

T Y W R 1 UF T Hfa SRy qon fefafed s emifea wam sifea wifee

(%) FHAEAR (@) g () fae=r (%) 9IEeX (Z) S-=feror wferama

Draw the outline map of India on full page and mark the following by shading :

(a) Kanyakumari (b) Mumbai (¢) Silchar (d) Porbandar (e) North-South corridors
Only for Blind Candidates :

ARd % < 3T w1 faERgEs i Hifaa)

Explain sugar industry in India.
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10.
1.

12.

13.

15.

ST (ANSWER)

gMe (GEOGRAPHY)
(%) o
(@) gaed o
(@ F
(i) <reEH
IR FH F e scacwa & Frefafed o € -
() A e WA wem
(i) TWREE TE | FH wEm
(i) FW F AHF qHAEH q THAME IaF H FH FA0
(iv) SHEEn Sfu® g9 % R0 fHaE Fw

T T A T WY S SEEEl I w2 56 fawm 9 orw wedl # uw W g A
W ekl 2

TE AT F o, g FEEn, g-TRed i YA €1 SE HRo1 T S ufEie T 1 agseeia ufEer
FET o 2

F W eI ST FI Foal G F0 Y G e ¢ F ena S@m & st gt o, aet ad,
2, S o, Wt g, HiH SEn onfg e € sed YR # SR Wi g

IR H Gl A I G e @ fashad 21 98 F % A% ISR UEE H arel §E ged agl 8 @

AR H Y Tgelt Yot aF AN F T 1854 o W Hag H A S STEX GRI TATUG i W
29 T AR Gt e el weRTe, ToWE, ufvem S, SW ARy 99 dfferrg § S 2

Heg ! At FIS FI TERI FHET S €, FA(h 8T TR F AN TH = gt g% T9R
v 21 foega SR, Ifeed, S qen faga gfawne 3 39 § gt 9w sam & famsimo § geeyt
ftrert fruré 81 Fqol G § GA I & AR T Fed WA F A9 g U T FH F FHRO1 oA 79 @
= AT fash=ieRTor gam 2
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Group-C SET-VII 3k (Marks) : 17

TerHta fa@™ (POLITICAL SCIENCE)
Freifera agfamedta woi § ¥ Wt famwew =+ -
Choose the most appropriate options in the following multiple choice questions :

16. 9Rd ¥ fFE yHR Ft el usfa w2 2 )
(F) T ofig saeen (@) faaedta oaeen (1) wEEAE R (9) T ° FE TS
Which type of party-system does India have ?

(a)  One-party system (b) Two-party system (¢) Multi-party system (d) Non of these

17.  oihas i WHO I TH AEEEH I G ? 1
() foren (@) T (1) TSR (%) RS | 3T
What 1s the essential condition for a successful democracy ?

(a) Education (b) Health (c) Employment (d) trust in democracy

e www @ 3T 20 VIl W §

Answer the following questions in 20 words :

18.  TSHfaE T@ FT uam ) 2
Define political party.

e goel o see srfueRaw 50 el H ¥ -

Answer the following questions in maximum 50 words.

19. AR TSI H g S g w2 3
How does communilism effects politics ?

20. TR T # @M % wHE WA wHE-wE § 2 3
What are the main sources of income of Municipal Corporation ?

e wva @t S sifasman 100 wedi H F -

Answer the question in maximum 100 words :

21, rhad fFE W@ STEM! T 94 TR 1 TS H § 2 7
How does democracy establish a responsible and valid government ?

AYAT (or
faer  gU B oT=eM ® UHW FNON & G

Describe the main causes of Student's movement in Bihar.
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16.
17.

18.

19.

20.

21.

ST (ANSWER)

Trerita faa@™ (POLITICAL SCIENCE)
(1) wgacita =aaeen
(%) rwad § e
TeHfdF 6 IEr AR R AT F1 TF UH 9ge S AeHiaE R % weam § g g R
el 31 3 gE H 9 o) E srof-erl wiféat ) Al w@ weEws #oswon s # e @ )

Tt Terifaes faarem st o 9 §aifad 89 @ @ Srgeiiassar 1 99E TeHia W TR €9 9 iy
T @ @1 Feft-weht u weEm foe @ fedl w1 @t wfaum % suEl & faeg s fofa fod s
&1 T <ot g § s Rt wEm fasin & @i o ma eifie w@ @ fou aneitaes w5 e
F TAE FW

TR g 10 o Wit % fau %% 9R #1 # o 2| fafe= TR # # Se-g@E #, 5 &6,
YT #X, TR X, T w5, e w, Sen-femm #w, wifén w anf

TR T T F W U F o T F9 g @ s wE s 1@ = wan safae
YRR GHA-F99 T 31 3R 2 fom & o & 9 et 2

dikd o frafe g sH-wfafafeal & merm @ faufas #1 127 @ 21 faanfas o sgqa 9 wfa &9
% AR FE H 9w FA F A SETER F #) el e | wRl 1 A8 S 1 SHER
2 o5 wea o wiftd =iE < faofa #39 it g 2 fea-fr eed 3 vear =1 faue o oA fomm @@ svermn
Ha fau) st @i fiz difen wd st Hifem = e | g fofE w =it w1 g7 € @ik a9en
F1 el SHeTREne % ey i % fovg w2 9 g a% faUy w1 "R SO g S @1 6w
UE I S ARG % A | 3o ol ager o ugd €1 39 YR oliehd s U STRERT SR TS
Fl B

HAYA (or

1971 3o % M TAE & =I5 F5 GERR Bl AHTSH-AF Aifqai & awdra 5@ 5 =) fwwen &1
e a1 = | et yRonféEt # aoe @ feufd o ft waEe @ T el R W ad 1 E
¥ eenfym gfg gl 1972-73 3o H WMEA HI ATEAA A 9RAE FW F HH THEAE g
aRoTTEEy gequl 39 § STEdN T HRle S| ol 6 1974 fo ¥ faen & wni 4 wen & faes
A=A B faan Sagwe TRE F AfEws R ¥ W 9RG § 78 A=er heA T

https://www.evidyarthi.in/



Group-D SET-VII 3k (Marks) : 17

9T (ECONOMICS)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

22. frAfafed o 9 @ o & fufyq sreforeren € 2 1
(%) swifE (@) = (1) (%) grefe
Which of the following country has mixed economy ?

(a) America (b) China (¢) India (d) England

23, ARG ¥ WEHIAl AR Fa YA g3 ? 1

(F) 1904 (@) 1905 () 1907 (%) 1909

When did co-operative movement started in India ?
(a) 1904 (b) 1905 (c) 1907 (d) 1909
et wwt et IR 20 v W €

Answer the following questions in 20 words :

24. o deem @ =+ gwed € 2 2
What do you mean by financial mstitutions ?

forer gt wmr S 3ifireRan 60 vl W -

Answer the following question in maximum 60 words.

25,  EvERIOT, IERHO qen fAsfever i AifEE w5 oufomm ®, #5902 3
Globalisation is the impact of the policies liberalisation and privalisation, how ?

26. SUHIE F FHA FE ? 3

What are the duties of consumer ?
1w & 3 stfireRam 120 vl W T
Answer the question in maximum 120 words :
27.  faerR % onfe fredw & 71 wn0 2 2 9vfF &) 7
"What are the causes of economic backwardness of Bihar ? Explam.
AU (or
qrE #1 ¢ TS T STHR W a9 L

What is credit and what are the required bases for granting it ?
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ST (ANSWER)

rdymE (ECONOMICS)

22, (M) 9Rd
23, (&) 1904

24, fodt deond i &= § 201 stoen O Y R Feenet i ded & S @ Rl STEvEhare ® U S
?q 9@ TE qE Gt FEl F1 gmed w2
25. SRS 1 1o THR GRI T ¢ G ravass s qen gfaee w5 eer @ ud fsfior w5 o
frsft & g w8 % sedl ) gof 9 9 o enfieE w9 9 w@ifie e w1 2
IR0 Ud Ffieor & wRo1 € Avdie o & aaia fafa= e & ofte oegel e dene, st
3R FEifTet #1 SRE-YEE B @ 2
26. SUHiE WA FIE o @l @ A Suw we etatad #wHer o eh € -
(i) % 39 9% H WE ol
(i) o S%q I oM, sie, T, o, i e seam w5t st fafy, IRE AR TR senfs | o R
TS WY E e H A S SEouHos o, Wi, et Ud eferm w1 e off 2@
27.  faER & e fiwemm & frafafes wror & o
() Tl SEEn - fer #t SEen afus g1 % wro faer & fawm ot @ T 8 W @ R
(i) omenfE Goa 1 e - et off T % fo # faw snenfer wEA w1 AeEE e wed @ elfed
faer zq 9w § 9 2
(i) F W fasfean - faer 1 srdferaeen @it @@ @ i w feft 81 =i =1 v fre<h €€ 2, 0 wro saeA
w9 Bl 2
(iv) 9T qeN g ¥ &fq - foaer & e 39l faer § =g qen sfaoh foer & g =t feafa 1 9w v
T T vgar ¢ o wRon faer w3 fefa S T )
(v) T - foer T ® Al ® 29 g M W B 59e e o faer fuser gan 2
(vi) oTenfs fuwer - faer & Saim ue & w1 w9 @ e FR0 98§ wR 9en o | g A
o SR T H 2
(vii) T fafyy sreeen - frdt ot <o o T % fow wifd qon gemeeen S e 21 faer § e fafy sreeen
f foem #1 vF TeEyyl Hror 2
T4 R faer 1 onfées oraeen 4 @ € fms FRo 9w o fiwer gen R
HYE (or
URE 1 W HO1 AR A1 A H R emar § favard € g 2
U@ F q&T eER e ¥ -
(i) fomam - §/@ 33 S A1 HURM IUR 3 1 aft TR g & wa 34 favaw 9 ® fF woht W
QA1 el 3
(i) =G - /0 < F1 ER =fE | 21 AfE wolt Sfeam qon $aMER € O S R e | i W T2
Bt eifere SfeE =afamal i ®E off 801 24 1 q9R 7@l e
(i) TFM F GEA - FHE R A H IUR qeft 0 2 9 W IW Al F PIAE FE H A W
fervara grar 21
(iv) O wd gmfa - wmorm gt don Tmfa & SMHR W RO dar B
(v) B I SfEfy - FURE dweE B0 3 ¥ sEen ¥, #ifE 3% 9l wa € fr e | wmoft
ere, = iR enféer feafa & aftads 9 &1 sy
9 YHR GRE ST SER 2
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Group-E SET-VII 3k (Marks) : 06

28.

29.

30.

28.

29.

30.

YT =1 (DISASTER MANAGEMENT)
Freifera agfamedta woi § ¥ Wt famwen =+ -

Choose the most appropriate options in the following multiple choice questions :

fefefea o § fag 7 =i ‘faer %1 v’ et s € 2 1
(%) T (@) TieF (1) I (%) g9

Which of the following river is called 'Sorrow of Bihar' ?

(a) Ganga (b) Gandak (¢) Koshi (d) Punpun
HETR % el W 91 F99 1 R AW " S S ? 1
(%) 9T (@) wsFam (1) g (%) T @ ®E T
What 1s the name given to the vibration occuring in the ocean bottom.

(a) Earthquake (b) Cyclone (¢) Tsunami (d) None of these
e g FT IR 60 IE H § ; 4

Answer the following questions in 60 words :
TRTE T Y o A e € 2 WgE qEaE @l & W fafen ?
What do you mean by Seismic Waves ? Name the important types of Seismic waves ?
ST (Answer)

(M) =
(M) g
THT % GHA ISAE HIH Hl GHET W wed €1 39 qeFa: weths (P), i (S), e € (L)
T F dfer S 2

P T Te® UEW Yool I Wagw W UgHdl g1 S T Y w0 ¥ SR gueh! fd %W et 21 L
T H TEAd FIE F B B
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